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Journalism and Mass Communication

Paper 1II

TIhIar M7 AR
gyutrent 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U Sed. @d U Wi

A : A TRAUGERG THU WX (100) SgTaEl U ol oed. Todsh WA g (2)

James Augustus Hickey earned the
distinction of launching India’s first
English newspaper. Hickey belonged
to which part of the United
Kingdom ?

(A) Wales

(B) Ireland
(C) Scotland
(D) England

According to Herbert Blumer,
which of the following is not a
distinguishing characterisitc of the
concept ‘mass’ ?

(A) Large uncountable number of
Individuals

(B) Aggregate of people who are
unaware of each others identity

(C) Group of individuals who are
geographically widespread

(D) Aggregate of people who are
critical of their media choices
and gives immediate feedback

S 3Ty feshia WRATdd gfeet SUS
IS g& hvar 71 fHesfoa. faen
AT fhTeH=a HITA WA

g ?

(A) 9|

(B) TRIcie

(C) Thicel-s

(D) e

g AW A 1’ Heheudd
JEAIUhT IV ATeEh AT AT ?

(A) HISIAT 9 JUAHION HSl AR

(B) THHSI=AT sTe@qygd Tafvd
NIER

DA N

(C) Hrferrgse fagRael e

(D) 3TUIT HIETHTISdod  STRT%h

UM 3 e @Rd 9fawre
QUM STHE

[P.T.O.



In the context of history of radio in
India identify the correct pair from

the following ?

(A) 1930s-Beginning of radio

transmission in India
(B) 1940s-ISBS renamed as AIR
(C) 1950s-Vividh Bharati started

(D) 1980s-AIR brought under

Prasar Bharati Board

Sales promotion is a very effective
tool and it offers various benefits.
Which of the following statements

is incorrect ?

(A) Sales promotion helps to
supplement and support both

advertising and selling

(B) Sale promotional activities
involves both direct and indirect

approaches

(C) Sales promotion eliminates the

need of a salesman

(D) Sales promotion will not
enable the consumers to gain

knowledge

3.
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Rl Ifes=an sfagr@m=an Feyiq

@Al Il STel sel AR ?

(A) 1930 = TuTeh-Ife3t yQYUT= geard
(B) 1940 < <ITH-ATICHSCHA

TR 3T ATHEHII

(C) 1950 = Tyreh-fafay YRl geamd

(D) 1980 = TITh-' TSI’ FTER TRt

el SN

TS

fosh! IS © Td TRUMTHRRS a5 T

R URHAT 3Tk HES Y 0T

Jqrd, I HeUTd EATAdeh! hIvd HeH
ek 3 ?

oA NN

(A) foshl IG=T ek WU Hed BId ST

o fa a

1 SR gt o fash st

=il

(B) 9aY (01 svcael gfteshid fosht
A&l SHhHIHET HHIGRT Al

(C) fommt g5l SushAM fashear=i ™S
ETd e

(D) fasht IG5t SUHHT TMEhT= ATIST
IR el




Which of the following is true
regarding the Supreme Court
Judgement on airwaves in 1995 ?

(A) Airwaves constitute public
property and must be utilized
for advancing public good

(B) Airwaves are not public
property and may be used for
commercial interests

(C) The right to free speech does not
include the right to receive and
import information

(D) The Indian Telegraph Act, 1885
is totally adequate to govern
radio and television

Which of these aspects will not
hinder readability and legibility in
page designs ?

(A) Over use of capital letters

(B) Low contrast between text and
background

(C) Very small type sizes
(D) Use of white spaces

What is the full form of FTA in
television broadcasting ?

(A) Free Trade Arrangement
(B) For Television Audiences
(C) Free To Air

(D) Federal Trade Agreement

JUN - 19220/I1—B

1995 HE Ha=d <RI SRRl

feerean FuEaR géerden! v faem

A 3R ?

(A) JATHIITATL GTHITSTR  HToTeh =1
STHI =T STIR SATTeh HTHTTSTh

fearaea 201 oTavaE TR

(B) STRTETARLI= ATeTehl HHISIeh Tl
oS A AR G MR TR
B Iehal

(C) ARTegeR] TS HITEdl
WhRIE] 9 J&faa swogrEn
sfer gaifase Bia @

(D) fer=tamoft emfer F4@rft a= e
HLOATR Al TSI SAlTh 3,
1885 AT 3T

foferd wstepur= arertear smfor sqsean
A B0 ATET 318 WTeileTdeh! I

AIEUiiial ool Bk 3fed 7
(A) =foea 1R eifus S9Am

(B) o™ emful e yHmETa Tt
TR

(C) TU Tedl STHRE h

(D) Hishosdl ST SYAN

AT YHIOTHE THSIT A1 A& ar=

Hoheqdl faaR w@ e ?
(A) I $T e

(B) ®R fafesH s+
(C) Wi Z TN

(D) ®ed <8 WiH
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10.

11.

Which of the following is the most
compressed video format ?

(A) AVI
(B) WMV
(C) AVCHD
(D) MP4

In a newspaper when there is an
overemphasis on soft news writing,
some of the editors refer to it as :

(A) Yellow Journalism
(B) Jell-O Journalism
(C) Feature Journalism
(D) Armchair Journalism

What was the name of the Saudi
dissident journalist murdered in

Turkey at the Saudi consulate in
October, 2018 ?

(A) Jamal Khashoggi
(B) Zahera Kazemi
(C) Reja Entesari
(D) Kasara Nouri

What is the full form of TRP in
media terminology ?

(A) Trade Recall Percentage
(B) Trade Restricted Practice
(C) Television Rating Point

(D) Television Recall Percentage

10.

11.

JUN - 19220/I1—B

JEieTyeh! Halfesh Gehiad (hIE™) herel
fogetel witde s ?

(A) TSI
(B) SsuHS!
(C) THETEE!
(D) THA®R

STeg] IAHHIS e =S’ o) gd ST
W fear Sar d81 Fuees T Juid iy
Hdd ?

(A) Yid TR
(B) Sidl gehIa

(C) =R TSI

(D) STREEET TRt

THEAM digt afeperrdta  siaRleR
2018 #ed w1 Hia forieht oot T

HIOGIA SAAl S A w2
(A) wHE @it

(B) ST& it

(C) & T

(D) & T/

HEH AT FEHid A= qof &g
w7

(A) ¢T Rwfa s

(B) ¢5 Rigws vy
(C) fafesm ¥fen diée
(D) fafesy Rewfa wdes




12.

13.

14.

15.

If an analysis of the death penalty
is written soon after a murderer is

sentenced to death, it is an example
of :

(A) In-depth story
(B) Trend story
(C) Backgrounder
(D) Theme story

Which one of the following variables
is not categorical ?

(A)
(B)

Age of a person

Gender of a person : male or

female

(C) Choice on a test item : true or

false

(D) Marital status of a person

(single, married, divorced,
other)

Which is not a part of Brand
architecture ?

(A) Corporate brand

(B) Endorsed brand

(C) Individual product brand
(D) Generic brand

Which is the odd one out ?

(A) Agence France Presse (AFP)
(B) Reuters

(C) Associated Press (AP)

(D) Britannica Press

12.

13.

14.

15.
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TEE el wiEil f¥ien SereEd
T T wRien e faversm

fafet @ el I WA ?
(A) @ gq
(B) &hel/aE I

(C) et g9
(D) WeFed e 9q

AU U T Yot A ?
(A) K= o™

(B) =Hkital foam-wit stuen geu

(C) TEvale Heas-ER Agdr @il

(D) =Heir= Sdess feeordt (sifamnted,
foarfed, seomIfed, M)

T U AHST Toal 9 T 2

(A) wTRe AHHE

(B) H=AYTd AHYS

(C) AfKATA 3G ATHHS
(D) |H AHES

qEieden] faeTd 9t S ?
(A) 3TTH WE TE (TTHE)
(B) e

(C) srfaue 99 ()

(D) forerfert o9

[P.T.O.



16.

17.

18.

19.

In the context of typing in MS-Word,
what is the adjustment of space
between characters called ?

(A) Leading
(B) Kerning
(C) Runaround
(D) Spacing

A cut from one sound to another
without breaking continuity is
called :

(A) Segue

(B) Harmonics
(C) Fade

(D) Hiss

Which of the following is not a name/
type of newspaper publication ?

(A) Broadsheet
(B) Tabloid
(C) Daily

(D) Scroll

Which model of development
communication considers the
audience to be targets of an injection
or bullet of information fired from
the pistol of mass media ?

(A) Hypodermic needle theory
(B) Gun-shot theory

(C) Agenda setting theory
(D) Knowledge gap theory

16.

17.

18.

19.
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HIhETRE TEHE 28T HidMl g 3181/
o= ar= EH AT SRl
B ?

(A) @ifem
(B) s
(C) TIWES
(D) SafE

A € U 7 odl Tahl Laiel Gol
el Sevare fhde I WUk ?

(A) ¥
(B) TR
(C) ®s
D) fex

qErAd®l HIO@ AT GHRIATS
TE/IHR AT ?

(A) wireele
(B) Trse
(C) <=t
(D) ThidA

S HTEHHTAT SGehIqT H&Thiche SSclall
Tiest foran g oM 1™ faehTaTcH®
O Hed FfadE @efta g1rEia
e ?

(A) BRUSH®

o o

frea foga
(B) T-3e fagm@
(C) erorer afen faga

(D) s 9 fagid




20.

21.

22.

23.

Which film introduced play back
songs in India ?

(A) Dhoop Chhaon

(B) Raja Harishchandra
(C) Alam Ara

(D) Aparadhi

To change organisational culture
successfully we used to do what ?

(A) Find the most effective sub-
culture and use it as an

example

(B) Included employees in the

change process
©)
(D)

Make changes from bottom-up
Use autocratic style

What is known as ‘Invisible road’ ?
(A) Telecom

(B) Computer

(C) WiFi

(D) Internet

Who was the editor of the newspaper
‘Afternoon, Dispatch and Courier’
who wrote under the name
‘Busybee’ ?

(A) Oscar Fernandes
(B) Behram Contractor
(C) Dom Moraes

(D) Darryl D’Monte

20.

21.

22.

23.
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1o FersuergR IRt fosre geimed
‘qredTEA’ dEE gead el ?
(A) Husid
(B) T iwes
(C) 3o 3T
(D) 3Taedt
T I ! AT St

A FTF HLO AEIIF 3 2

(A) Faiq Gyl 3U-F&hdr=n INY e
o= 3SR WUA AR Sl

(B) HHIIAT s Ufshad 9

EREC]

(C) e[ ol seel

(D) THITUHRIMEET IR HIE]
‘orgva & (Efsiaa Ug) & Gehea
3N fawR arRet S ?

(A) TR T-H

(B) STUTh

(C) 9w

(D) 3&E

‘A feuts {ReR’ =1 IdaHwdre
ol HuReh ‘fasiel’ a1 e WX
fafeat ?

(A) AT FHASH

(B) SR WHigHR

(C) =M 9R"

(D) e feur=

[P.T.O.



24.

25.

26.

27.

‘Swish-panning’ in production is
related to :

(A) Camera movement
(B) Scene composition
(C) Lighting

(D) Post-production

Which is the type of research that
decides on the effectiveness of a
public relations campaign ?

(A) Exploratory Research
(B) Evaluation Research
(C) Processual Research
(D) Descriptive Research

Whose theory is credited as early
theory of communication in Indian
context ?

(A) Bharat Muni
(B) Chanakya
(C) Ashok

(D) Kalidas

Which of the following is a printing
technique in which the inked image
is transferred from a plate to a
rubber blanket, then to the printing
surface ?

(A) Lithographic
(B) Letterpress
(C) Offset

(D) Photogravure

24.

25.

26.

27.
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Tafidme ‘faw =i’ =1 w9y weme
e ?
(A) U g
(B) ¥ <hivdifsred
(C) wmfen
(D) Ur=-WEaR™

e S99 Hifgd=l TRomHeRRehd
SHTUTCAT W AT TINEATAT AR Sl
S ?

(A) STaF Geied

(B) TIHMIATHS HRNeH
(C) ufchamehsl Semed
(D) SUHAHS GENEA

IR Feuid Fad gfgen T fagia
HEw= 99 oMl S ?

(A) SRt
(B) =T
(C) wieh
(D) hifete™

qEUh! DIV IUGATHES TETa
AU IMEA Traerel! wfdwn we™ W
STEOTER ARG 2l ST TR J501
TR BTt Sd ?

(A) Tagmntres

(B) <R=UH

(C) 3R

(D) HREEE
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28.

29.

30.

‘Ethical deception’ may be practised
in journalism if :

(A) There is no way of getting

caught
(B)

The information sought sells
your paper

(&)

The reason for deception is
disclosed alongside information

(D)

Which among the following is not
a public relations function ?

(A)

Should never be practised

To prepare advertising media

plan

(B) To decide communiation
strategy

(C) To conduct communications

audit

To find out what the public
thinks of the organisation

(D)

When a series of images is presented
that combine to produce an
associative effect is called as :

(A) Jump cut
(B) Montage
(C) Cutaways
(D) Wipe

28.

29.

30.
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TaRTfidd Afas garurEr (Q‘F%Tam
E%W) R v TR HES 81

(A) SRl Tohedl SITUIM=l IRl -9
(B) ieg! fHesur==n Aifedi{es aHmasTen
WO oG ekl

(C) Segl Jaure HRO Hfgd I HHad
EEINGEETCES I

(D) hIvATE! TR HES 21 dwaren s
FE T

JRICTUehl IV STAETehiS h1d ATEl ?
(A) SfEUdEES AiegH SARES] Sev
(B) HaTHH R 3T

(C) TR EIRIE (Afee) e oo

(D) I EAFTR SHaa 7 S
=0

TH "ot e e
FeTATfeTeh =1 sheted dfTee=Igul HIS et
FHE HAGA[ 2

(A) V9 he
(B) Hi=rS

(C) eS|
(D) @iy

31. Providing glftS to media people at 31. 9K qﬁblqd l‘|7|°|'>|{i"1| ﬂdq{.q\ a‘lﬁ :
press conference is :
: (A) SRR 37, d HRH TH shel A
(A) illegal, and not done very often T
(B) not mandatory, but done ver
often Y Y (B) Wekir= &l TU1 STHehal 09 shed SIId
(C) mandatory, and done always (C) WeKite 21, o -edl ad el S
(D) immoral, and is never done (D) afaen 311%, g HEg shel S A8l
11 [P.T.O.



32.

33.

34.

35.

Which of the following is not a type
of market segmentation ?

(A) Demographic segmentation
(B) Geographic segmentation
(C) Psychographic segmentation
(D) Physical segmentation

Overconfidence of profits and
complacency may lead to :

(A) Cash crisis

(B) Financial crisis

(C) Prosperity crisis

(D) Leadership crisis

With which decade would you

associate the beginning of mobile
telephony in India ?

(A) 1970s
(B) 1980s
(C) 1990s
(D) 2000s
What is IMAX (Image maximum) ?
(A)

Canadian motion picture film
format

(B)

American motion picture film
format

(&)

Japanese motion picture film
format

(D)

Chinese motion picture film
format

32.

33.

34.

35.
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TTeAeTdeh! Fact STSTRI=AT TaHTSTm=
A& ?

(A) SHmfHRer faursH

(B) “imiferes farvmsm

(C) AFHEmSE faursH

(D) TriSTra faveH

TR YT 3Tt STcHeT 3T &Hes
JUT HAHGISIA FE e Sd ?

(A) Tiedal qeds]/T=yd

(B) 7Y T=weE

(C) HO=Tdl TFUET

(D) @ TAUET

YRA Hiesd hid Hod! geard o
TR et ?

(A) 1970=41 <TMhId

(B) 1980=1 T¥&M

(C) 1990=1 TI

(D) 2000=A1 ST

HFs fRar AW HeHHE w=US
% ?

(A) FAfesd ArE firer firen wide
(B) TafR&d ARM fieer frew wife

(C) s AyH iR fhew wide

(D) =S ARH fuger fhew wibe

12



36.

37.

38.

39.

Which of the following is the
interpersonal communication about
products or services where a receiver
regards the communicator as
impartial and is not attempting to
sell products or services ?

(A) Personal selling
(B) Word of mouth
(C) Tele-marketing
(D) Integrated marketing

Which website allows us to see where
our traffic is coming from and how
visitors interact with our site ?

(A) Google assistant
(B) Google map
(C) Google analytics
(D) Google siri

Study of meaning making is
called :

(A) Semiotics
(B) Rhetorics
(C) Linguistics
(D) Theatrics

What was the reason according
to the Washington Post’s last
column on ‘What was Fake’ that the
pare and tenor of fake news has
changed ?

(A)
(B)

The political class has changed

Being a hoaxer is more

profitable
©)
(D)

Society has changed

The laws have become more
stringent

36.

37.

38.

39.
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JEIcdeh] IV o] STYET TaTosE
AR TJOT 3R, SAHE UTeh
TR SRSeaTel o] ol Lo JLEahall
I 1 R e o e o s

(A) Safoes fasnt

(B) diet st

(C) ®HgR ahorell fashl

(D) Thifaesr faque

STTICAT Hehaeefeelell i fohh ‘ﬁfl L

q T BICHI g SURERIR CIGIGEEN
I FHhaLIDER hosd 2

(A) T HerEsh

(B) Tl eRrem

(C) T forgeiven

(D) e &l

seffAfden sTwEen % WA ?
(A) Togemer (Hifrarfes)

(B) defaamesme (gelie)

(C) wmmemes (faftafes)

(D) reaeme (foretfes)

‘Sgie sl TR ' A T Vel HEXd
g aff¥red dred "iean aawn JEid

BT T S0 37 Seted! 3T <=
IO HRO Hifae ?

(A) TSI aF aeaal e

(B) @ S 301 S W 3T
(C) | sEerel R

(D) FME Afd HIX T IR
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40.

41.

Which of the following is not a correct
statement in the context of the
concept of network society ?

(A) The social units of network
society are fragmented and

dispersed

(B) The scope of network society is

both global and local

(C) Network society evolved during

industrial revolution

(D) Network societies are less

centralized

In a research project which of the
following sequences of steps is
correct ?

@)
(1) Statement of hypothesis

Selection of problem

(211)) Determination of appropriate
methodology and research
design

(iv) Presentation of results
(v) Analysis of data
(vi) Data collection

(vii) Review of existing research and
theory.

(A) @), (i), (o), (vi), (viD), (v), (i1)
(B) @), (vir), (), Gid), (vi), (v), (v)
(C) @), (i), (@), @), (v), (i), (v)
D) @), (), (), (vir), (vi), (v), ()

40.

41.
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ATTgh U (ATIH THES) AT

TeheT=a TEHTd Welielien] vl faem

T AEr ?

(A) T TSI TSI Teheh 2
forafed smfor fogeren ol

(B) <o WA T ¥ 9 SHifas
T Sl W=l STl

(C) FZore THIST RNTeh Shidi=AT hieard
IhIA T

(D) Fedeh THSTHE halhiuma FHTO
HH 3TEd

TETREN YN Yhodrdel Eralerish]

FHIUT YA STHH SE 38 ?

() T Mo

(i) Tfeadr™ HUA
(i) GUUE GYNYA Ugdl 9 Gyed

fal

ARl I Ay

(iv) STTAM HEHHI

(v) d= fagevm

(vi) T Fhed

(vii) ST HeNEH o fogia A= ahE
Exull

(A) @), Gir), (o), (v1), (viD), (v), (ii)

(B) @), (vip), (2), (@ii), (vi), (v), (iv)

(C) @), (vin), (@), (D), (v), (vi), (iv)

D) @), @), (1), (vii), (vi), (v), (v)
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42.

43.

44.

In SWOT analysis, ‘O’ stands for :
(A) Opponents

(B) Others

(C) Opportunities

(D) Obstacles

Which of the following is the correct
definition of extraneous variables ?

(A) Independent variables not
related to the purpose of the
study but may affect the
dependent variable

The variable that
consequence of other variables

(B) is a

()

The variable that is antecedent
to the dependent variable

(D) Variables that can have only
two values

Which of the following accurately
describes the term ‘Information
Society’ ?

(A) Creation, distribution and
manipulation of information as
economic and cultural activity

(B) Transmission of information in

society

(C) Socio-economic of

information by people

use

(D) Production-distribution and
consumption of information by

members of society

JUN - 19220/I1—B

42. Wi fagauomesd ‘O’ ®WIN

43.

(A) foiges (31dH2)

(B) 3@ ()

(C) Wt (ST

(D) 37U (o)

‘egrEen = (TR Y seftTad)

qEIcTuch] hIv TS e 3T ?

(A) TEIEETT RN He" THe, W
STafe TR IR H8d TR
LSICREIRCK]

(B) 3= ==l GRS I

(C) 3Tadfed I HRU THAA o

(D) =l % I o STHa ST

T

44. i qamaitet oo wied 9’ =A@

ghHeqad JuH Hid 7

(A) arrfefe @ wiTpfas HIOTHTS

qifedia 3cared, faaor Arfor

U Hifed ™ THR0T ho)

(B)

(C) W= ciehichgd TSR YT

affefer UM HTO

HHTSITE TR g Hfgate rHdT,
fereor afor g =o

(D)
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45.

46.

47.

48.

Who is credited with developing
Development Support Communi-
cation ?

(A) Erskine Childers
(B) Paulo Friere

(C) Everett Rogers
(D) Srinivas Melkote

“Navyug” Marathi weekly was edited
by which prominent journalist ?

(A) P.K. Atre

(B) N.S. Phadke
(C) H.N. Apte

(D) P.L. Deshpande

Which of the following are ‘Measures
of Central Tendency’ ?

(A) Mean-Percentile

(B) Mean-Chi square

(C) Mean-Mode

(D) Correlation-Regression

In the context a media effect
typology what are ‘Agenda setting’
and ‘Institutional change’ ?

(A) Long-term planned effects

(B) Short-term planned effects

(C) Short-term planned and long-
term unplanned effects
respectively

(D) Long-term unplanned and short
term planned effects
respectively

45.

46.

47.

48.
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ferehraqesr oo foaehfaa weoa 59
HROMAT S ?

(A) A& =mEeed

(B) Tisien Hetd

(C) TR U™

(D) siferd Az

pEceul %’ TSt W%m REGEED
IO ATHIhd IR UTGd el ?
(A) 9. T

(B) 7.9l weHh

(C) &A1 7a

(D) 3. IFAS

JEICTIen! ShIVIT Shaid Feil HTaT= STeH

JMed ?

(A) 9=E-3aan® (HH-T8er5a)

(B) AF-=@ a1 (HH-%E @)

(C) Ae-sgash (HH-HIe)

(D) FEEEg-FHEE0 (HiReeH-RIeH)
HreqHTAT TROTHATAT I Lom=aT HEHid
foerrmrem= ffv=dt’ 9 Seeres a5’
T T DI YhRE YROTH STed 2
(A) <& ged fifsa aftom

(B) 9 Hadr= fifsa 9Rkom

(C) eTIehH 3fed Hadta frafsa & ST

(D)
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49.

50.

51.

52.

Films portray women as passive
object of male desire. Which media
theorist introduced this concept of
‘male gaze’ for the first time ?

(A) Van Zoonan
(B) Laura Mulvey
(C) Bella Hooks
(D) Trisia Rose

Who is the director of the film
‘Village Rockstars’ which was
nominated as an Indian entry in the
best Foreign Film category ?

(A) Chaitanya Tamhane
(B) Amit Masurkar

(C) Rima Das

(D) Aparna Sen

The total number of amendments to
the Constitution of India as on 2019
January stands at :

(A) 98
(B) 103
(C) 94
(D) 101
Development Support Communi-
cation (DSC) was developed as a
reaction against the old development

communication model by which
organisation of the UN ?

(A)

International Labour Organi-
zation

(B)
(&)

International Monetary Fund

International Telecommuni-
cation Union

(D) Food and Agricultural Organi-

zation

49.

50.

51.

52.

JUN - 19220/11—B
fergeiged forre fomm & qesren

JraaeE fftRa g A1 glbdchl"iltl"l

HIEH
W@MWWWW ?
(A) =1 g
(B) @RI g
(C) el g
(D) Sifern Tt

‘fgore TR’ o1 foogem foesis

HT 2

(A) a4 e

(B) A AR

(C) {m =™

(D) 9l 99

SHERT 2019 THd YR Fiaemma fodt

TeAGERN A 3Ted 2
(A) 98
(B) 103
(C) 94
(D) 101

EEAESIREET H’Q‘IIH"IIVAII ST

=T
forehTETYXeh GRITO &1 HehedAl T U6

HET=A FHeed [aum geaifad shetl ?
(A) FTEIHEA TR SAAEIE
(B) TS HifEll ®e
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53.

54.

55.

Which of the following is an
incorrect pair in terms of Scholar-
Theory ?

(A) Rogers—Diffusion

(B) McLuhan—Propaganda
(C) Schramm—Public Opinion
(D) Bharat—Natyashashtra

What is the registration period with
respect to TV channels down-
linking ?

(A) 1 year

(B) 5 years
(C) 10 years
(D) 20 years

Which of the following is the correct
description of the experimental
approach to research ?

(A) Its purpose is to form a database
from which to infer
characteristics of population

(B) In this case some variables are
manipulated to observe their

effect on other variables

(C) It involves construction of an
artificial environment within
which relevant data can be

generated

(D) It is concerned with subjective
assessment of attitudes, opinion

and behaviour

53.

54.

55.
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ST - TG A= HeHid Jererisht
HIV SIS IET AR ?
(A) USH—yEr (fewrgsm)
(B) HeRqEH—I=R (WTre)
(C) FM—sHa (ufseren 2Aifgfae)

(D) AT

Qfaeamt aife=rean eRAfes afsha-
TS AQulTehumETeen shicmas o

AR ?

(A) 1 9
(B) 5 ¥
(C) 10 =
(D) 20 I

TATCAUeh! IO TR SRR 3Tedh

U R ?

(A) STEHRTET TUrdfersel Sievaramet
T2 FeheTd hYl g = 3e¥l TEdl

(B) 9 el FAMEd (STOergeieh ) Jeal
FEd A S A IR
ST STl

(C) I A IR TR T ad
g gR qeT Hheld ol

(D) g, 7 & S A ATiel HeIHT
AGR el S
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56.

57.

58.

59.

As on Feb. 2019 who is the present
Chairman of the Central Board of
Film Certification ?

(A) Pahlaj Nihalani
(B) Anupam Kher
(C) Prasoon Joshi
(D) Nana Patekar

Which of these media has the widest
reach in India ?

(A) Print

(B) Radio

(C) Television

(D) Internet

What does ‘Civil Society’ mean ?

(A) Social sphere in which
individuals and organisations
coexist

(B) Everything in society that is

governmental

Mutual understanding of
government organisations and
individuals

()

(D)

Everything about civilians in
cantonment region

Who is the director of ‘Period-End of
Sentence’ an India-set documentary
film which won an Oscar in the 91st
Academy awards ?

(A) Gurmeet Mann
(B) Rayka Zehtabchi
(C) Guneet Monga

(D) Arunachalam Muruganathan

56.

57.

58.

59.
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T A8 Ak fthew Wifhahy qem

(hgardt 2019) A& RO ?

(A) TgaTs e

(B) A9 TR

(C) g il

(D) AT U

IRATA Jeletden! hivel HIEAATT died

walfyes 38 ?

(A) Hfsd

(B) A4rarof

(C) Ife=ramit

(D) 3R

‘T TN BN e

(A) Ik STIOT TEq SATHEN Tehol STHam
AT ISR TR

(B) 9HINITAIA IMEHIT  3THAA 379

TSI

(C) IR T 30T ek Aldiel I
S

(D) BET GUMIre ATTRERT st
HelehTal

9151 AT YUEHIIHE Fellche
Aifgdiger=l QR fHaciedn 9 wRdrd
fafa shetedn  filige-5 T 3ff ae=’
< fereeid w2

(A) THI

(B) {1 Sigdrar

(C) Tofta Him

(D) STeU=H J&ITHIEA
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60.

61.

62.

63.

What is the highest need that can
be used to persuade a person

according to ‘Maslow’s Hierarchy of
Needs’ ?

(A) Physiological needs
(B) Self-actualisation needs
(C) Social needs

(D) Safety needs

The sample size of families covered
by BARC for estimating the
television viewership in India is :

(A) 2 lakhs
(B) 3 lakhs
(C) 50 thousand
(D) 20 thousand

The scale which only assigns
numbers to objects to classify the
objects according to the
characteristics of interest is known
as :

(A) Ordinal scale
(B) Ratio scale

(C) Nominal scale
(D) Interval scale

What kind of a PR agency start up
firm is most likely to hire ?

(A) Boutique
(B) A-la carte
(C) Traditional
(D) In-house

60.

61.

62.

63.
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AT ATTIh A Saield Haid o
Fodl ATATIRAT TEET Feril= T

TSI ST Ted 2
(A) YRR AT

(B) HWHAT=AT AR
(C) HHISTh  SATeIgIehdl

(D) Gadreedidict STeedehd

AR gIE=euii=ar ATgeR AR ]
SfTeeTEE=n Tl fehdt e
HHERT Ale 7/

(A) 2 9%

(B) 3 @&

(C) 50 BSX

(D) 20 TSR

T AR AHUITER A aod
TTTeRY0T SHITIATAT HIYT dgdiel (Thal)
HF WA ?

(A) HHa 799 TSl (SWESHA Thed)
(B) UK 99 Ugdl (WM w@hal)
(C) AHHE |99 gt (AfHHA @hal)

(D) e AT TGl (SeeRd Thdl)

T & ehelell TERT HIAT (TETT)
Focdl YhE! SHETeh T aTia ?

(A) g2

(B) 3-o &l
(C) URARek
(D) o
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64.

65.

66.

67.

Which of the following was one of
the major lines of argument of
Frankfurt school of theory ?

(A) Mass Media challenge the
hegemony of the elite class

(B)

Mass media promotes a ‘false
consciousness’ among working
masses

(&)

Mass media supports the
economic and political interests
of working class

(D) Mass media participates in

genuine egalitarian discourse

The 2016 Best Picture Oscar went
to which film ?

(A) Room

(B) The Revenant
(C) Spotlight

(D) Bridge of Spies

Which of the following is not a
part of the ASCI code for self-

regulation ?

(A) Honest representation
(B) Fair price

(C) Against harmful products
(D) Fair in competition

What is direct observation of cultural
and social groups by temporarily
joining them known as ?

(A) Existentialism
(B) Ethnography
(C) Multiculturalism
(D) Ethnicity

64.

65.

66.

67.
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Thehthe ToraRepetT= T foameRefiae
Eeileehl ShYM=l THEYT Bl ?
(A) A= ‘;T"i?l%lﬂl STHTEH 378
A

(B) #iffer SHHEY SHATETH UTHe 9
frafor Bvgr @aurt ST

(C) ufger A= oiffes 9 TSR

(D) T-AME-A1 HHAERT F=ifaeard

SAETH Geur g

2016 He Ipee FoAqe™Ea iwht
o [ N
ol U Haldd ?

(A) &

B) fg W=

(C) Hiease

(D) fo=1 ATk RS

WIS TR (TSR arET

X (" o o hel o n

T egd HRfd 31 sfear) FemmeEea
AN A

TeAcish! Hhodl a8d AT ?

(A) wmifores gfafferee

(B) & fehwd

(C) ke &gl Siedd

(D) =g Tyl

TiEpfoh oM WIS wEmed
SHeHenloolHIdl [HHog o=l el T

fieomg $™ Wedl S ?
(A) TferRaeeTTearey
(B) TEMRITH

(C) Teteheaifiorg

(D) TR
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68.

69.

70.

Who was the Chairman of the 1982
working group on software for
Doordarshan ?

(A) P.C. Joshi
(B) L.K. Advani
(C) Nalin Mehta
(D) B.G. Verghese

Statement (A) : Concentration
of ownership in media leads to
concentration of ideas.

Statement (B) : Few key
players in media business
perpetuate itself by reproducing the
same content and meanings.

Codes :

(A) Both (A) and (B) are true and
(B) is the correct explanation
of (A)

Both (A) and (B) are true but (B)
is not the correct explanation
of (A)

(C) (A) is true but (B) is false
(D) (A) is false but (B) is true

What does ‘Copyright’ essentially
mean ?

(A) The recognition of the
ownership rights of authors in
their own published works

(B)

(B) Right to copy freely any original

work

Right to copy film and
transcribe to book

(&)

(D) Recognition of aesthetic worth

of an artistic work

68.

69.

70.
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RIS WiredsR Fed 1982 H&

T holedl AT 3TEg8] vl

BId ?

(A) Tt SEh

(B) TdA.h. A<aro

(C) <fe Fgan

(D) .S IUnE

faem (31) : wIEAmI=AT HWIAH I=AT

BId.

faam (&) : ey Eda g e qee

TohTd TR TR 71107 379 fefor e

Al 9@ hednd.

Hehdieh :

(A) faum (1) enfor (9) & <=t faem
SRR 3 fagr (31) = faum ()
? drg SR SR

(B) faum (e1) enfor faum (&) & St
faum SReR A9t faum (1)
o faum (F) T 99 HRO AR

(C) faum (=1) Irg 1R W faum (9)
Tehia 3R

(D) faum (31) g 8 W faum
() Irg IR

FHIMRES (WMHA TFh) BN &I

EJR S

(A) 9fHg Fied aeAme
HTeleh! gerhTl Sidell Teiell g

(B) IRl o3 =T el Tkl
HOAET SRR

(C) o= qiehmed YT ShUAT]
SHR

(D) TETE FHaAHd= Biedicqsh st

g
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71.

72.

73.

74.

Which of the following is not the
typical characteristic of the phase
of internet popularly called as
Web 2.0 ?

(A) An entirely new system of
hardware and protocols

(B) High degree of multilinear
interactivity

(C) A high percentage of user
generated content

(D)
Who among the following is
identified with French New Ware
cinema ?

(A) Bernardo Bertholucci

(B) Akira Kurosawa

(C) Francois Truftant

(D) Martin Scorsese

Which regional language films did

The rise of ‘wiki’ phenomenon

commercially most successful

business as per Industry report of

2018 ?

(A) Telugu

(B) Bengali

(C) Marathi

(D) Bhojpuri

Which

infamously termed the “Gagging

Act” ?

(A) Indian Press Code

(B) Vernacular Press Act

(C) Press (Emergency) Powers Act,
1931

(D) Indian Penal Code

of the following was

71.

72.

73.

74.
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se fasmmen ‘as 2.0' =1 frod=

ETeAteTdeh! I ATITSel HIFAT A0

& 2

(A) TR d UrhicH= Teh HYUl &t
2RI

(B) HISaT JHIUER SgC¥ STaishal

(C) AR FHv Sheled TREM™
LT JHTOT

(D) ‘faent’ SRl 3T

qEITTdh! IV TR Hhd = A

o dome o ?

(A) sl aefieq=h

(B) AfRT HIHTET

(C) W=l J®l

(D) WM ThREH

2018 =1 fo¥(Ue HAH™ SHATATATTHR

HIUT TRAE Wil fesderT gaid
IIRE] FIHE Al 2

(A) T
(B) et

(C) =l

(D) 9T

eIkl S T e’ WA STufEg
B Ulsed ?

(A) sfeaa 99 st

(B) TReR UH 3

(C) U9 (SHST) Ul ¥, 1931

(D) weF fa e
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75.

76.

77.

‘Dhun badal ke to dekho’ is the
tagline of which FM private channel
as of February 2019 ?

(A) Big FM

(B) Mirchi

(C) FM Red

(D) FM Gold

What are private treaties ?

(A) Practice where newspapers

promise advertising in
exchange for equity in the
company

(B) An agreement between two

newspapers

(C) An agreement by which a
newspaper promises not to write
against a political party

(D) A treaty between newspapers of
two countries

The Directorate of Advertising and
Visual Publicity (DAVP) is now
known as :

(A)

Bureau of Outreach and
Communication

(B)

Directorate of Audio-Visual
Publicity

(&)

Department of Advertising for
Print and Broadcast

(D)

Ministry of Information and
Broadcasting

75.

76.

77.
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‘¢ 98 & I Q@' & IR KA
SISt THTH difgier Thgakl 2019 A9
Ushel! Sd Bl 2

(A) for1 ThuH

(B) =it

(C) THUH &

(D) THEA e

AU AR (e feis) e
PR RIS HEF 2

(A) yafedd Ugd EMeEd gadsl TEmE
UM IS Hiekedd, o
SENTAT IAESaad fe&d ArTard

(B) TH FAUSATHE HIVICATE! HIRUMER I
ELSSIMCTLS

(C) Iust 3T TSTeht™ q& ATHE STeren
L SR Y TSTehia qETforied
T @ o ZTehdTd

(D) T IeNEEiE gRUATHES gt
FR

T felRRe A% slcwmeEmT i<

fegsgatel dfsarfadl (feusddt) =m wen

HIUIT TFAH A FAEA Sd 2

(A) U 3 AxHel™ i FheA

(B) felgnre ofw sifesi-fasgs@
gfsafger

(C) TeurdHz 3 feesie™fs wR fie
e dAlSh

(D) fafAset % STHIAIE 3+
EIEEIESAll
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Q. Nos. 78, 79, 80 :

Critical researchers like their effects
trend colleagues, have also
examined gender issues
objectification theory, drawn from
feminist critical theory, is central to
this work. It ‘posits that girls and
women are typically acculturated to
internalise an observer’s perspective
as a primary view of their physical
selves’. Taking that perspective
Calogero and Tylka argue that
people’s ‘gendered experiences of the
body constrain and impact body
image’. As a result, ‘human bodies
are not allowed to naturally develop
into a diverse range of shapes, sizes
and attributes. They are shaped by
societal stressors and pressures that
render the majority of people’s
natural bodies deficient in some
capacity and thus in need of chronic
bodily evaluation and modification
in order to produce bodies that meet
prescriptive social roles, enhance
social value and secure social power.

JUN - 19220/I1—B

9™ 78, 79, 80 :

I hell. TR fagia 1 SHemt
T HETATE haed il 3Tg. ‘Hell 9
Afgel AT Fedl Fehfdeh geedrd
AT SIS <hTd a1 e T
& W A IRIhS AR it 3Tt
ToTetedt S/ d. 1 foamen e S
g foeret Fit o giqued oo T8 i
‘SRt TR famfafime gfte-
T = gfdHer aiomm 2 |
AT FAGTR Adw. " e g oA
AETeRR Tafifewfen, fafay e, fid,
SfeTse At e oTeft o el S AR
q FHSTAT SEEHR S AT
AT h1a! &Fd v ed S Fad
IR HeAHTH & HHTSTh fHehet
I IR I WA |Wed ure
HIOAHET S =] &l

78. What does ‘objectification theory’ 78. ARSI THS 6 M it 2
? ~ o .

say ? (A) Afgen 9 Holt YE&ha oTed

(A) Women and girls are cultured TN -

(B) #HIgclshe HUNT=ATA  3ATheld o

(B) Women have an observer’s TS MR
understanding and views @

(C) Women understand their bodies (C) Hfeett srervm=ar=an g el
from the perspective of an W= IS gedid
outsider R N

D) wfgen a1 INRIhS  AevArEl

(D) Women internalise their D) e s R

physical selves gl eI
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79.

80.

81.

What the of

objectification ?
(A)
(B)

is result

It makes people thin

It does not allow for natural

development of different body

sizes and shapes

(C) People are shaped by pressure

busters

(D) People have gendered
experiences

What does the author mean by

bodies that meet prescriptive social

roles, enhance social value and
secure social power ?

(A) That there should be a
prescription for understanding
our role in society

(B) One acquires power in society

by having body modifications

(C) People constantly undergo

evaluation of their bodies in

order to fit into the role
prescribed by society

(D) Modifying one’s body increases

social value

In November 2016 NDTV India

faced a ban for a day. Under which

Act that action was initiated ?

(A) Cable TV Network (Regulation)

Act

Official Secrets Act

Freedom

(B)

©) of Speech and

Expression

(D) Sedition Act

79.

80.

81.
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TR IROTH HE Bl ?

(A) T A FI B

(B) ®Mes IRI= fafay ser smfon
fadmeia "ol e TEeg he
STl

(C) Tore TTEMH SHLOM=A1 HZehiAl HE
ERGNIS)

(D) @wTwe fanvafasas sgaa
STHATd

ISR it I, | 9o

ST SIT0T HrHTTSIeh |rHed fHeseroml

TR AT SHEHIET T T 3 ?

(A) g eAraett ARt |qHsE
Huael oo fHeren fest

(B) TRIUA SEel TS S0 TR FHISA
Tmed e Trehd

(C) FHN Staaied qfshern a7

SIS Tileh Hdd Sod =41 YR

A hid 31T
(D) WA= I oA TSaell X

AT Hed e

FRa 2016 LA HIVIAT HIAATAT
STAIAIeRd UASISIee! Sredn a1 Jaale-iy
T foaaren SISl IR S e ?
(A) wod fet Feam (TgewH) i
B) stwfeee foey o

(C) fireH i w9 o TR
(D) TSR 3
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82.

83.

84.

85.

In Indian Constitution, article
19(1)(A) is closely related to which
of the following ?

(A) Religious freedom

(B) Profession freedom

(C) Freedom of expression

(D) Right to work

The scandal involving harvesting of
personal data by Cambridge
Analytica was first reported by
Harry Davis, a journalist with which
paper ?

(A) The New York Times

(B) The Guardian

(C) The Times

(D) The Washington Post

Who won the Dada Saheb Phalke
Award in 2017 ?

(A) Shashi Kapoor

(B) Gulzar

(C) Manoj Kumar

(D) Vinod Khanna

‘Snapdeal’ went for a change in logo
and its corporate identity with a new
tagline ‘unbox zindagi’. What is this
process known as ?

(A) Rebranding

(B) Repositioning

(C) Rethinking

(D) Revitalizing

82.

83.

84.

85.
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TR dfaemrdd, sad 19(1)(3)
Femen ffed o ?

(A) @ifHe w@ma=

(B) =ad™ o @

(C) sifyezerit T&a=

(D) hrHTET SRR

A ferdeh HIfgc= SUHT Shitsisl STTfefesh™
el d TR0 Hald YoH g0 Sfegdq =

THRR HIHT TAHAIS IS hal 2

(A) & =t <z
(B) fg mfeam

(C) fg =rzm
D) fo affEFrA o=

2017 =31 SRS Hldh YR
AR 0T ?

(A) vl QL

(B) TeISIR

(C) 7N AR

(D) fodig ==

‘TUEia’ a1 S ifeeRed STUe T
T T HURS Hoo@ agaAdet! T
* aTeiTerg TSI, 2T3T ST OoT Shedl
AR, A Ufhden S WUEK 2

(A) g

(B) yAféerdht

(C) AR

(D) gsited
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86.

87.

88.

89.

Which of the following is not an
aspect of Dhvani ?

(A) Abhidha
(B) Lakshana
(C) Vyanjana
(D) Riti

Which of the following is not the
term given by McQuail to refer to
media ?

(A) Signpost
(B) Gatekeeper
(C) Interlocutor
(D) Mirror

According to Russell Colley model
the ultimate objective of advertising
involves a communication task,
intended to create awareness, impart
information, develop attitude and

induce action. What is the model
called ?

(A) AIDA

(B) DAGMAR

(C) Bottom-up approach
(D) Top-down approach

What is stage two in the public
relations process ?

(A) Communication
(B) Planning

(C) Evaluation

(D) Research

86.

817.

88.

89.

JUN - 19220/I1—B
JRITUeh iUl Earan Uol AT ?
(A) Afaen

(B) <eom

(C) =

(D) "t

WA HeAld Yeletdeh! IVt =l
Hede aTaierett ATar 2

(A) WTiesie WY (TREAIR)

(B) gt

(C) TeRY/TaRh

(D) &

W Hich ASATIR HAIH H1d,
HOATE] Ie, Hifgd! UM, Il forehmd
3T TG ST T S SHfer=
Jfqw Sfes=y 1Had. o "I S
T ?

(A) ™SI
(B) SFHR
(C) dfeq-31q 3=
(D) 2fU-Tr&A 9

STEU%  Uiohedial THU ST Il ?
(A) G
(B) fsH

(C) HeAHA
(D) wENeH

28



90.

91.

92.

Where is the headquarters of the
Advertising Standards Council of
India located ?

(A) Mumbai
(B) Pune

(C) Hyderabad
(D) Bengaluru

Which type of content involves the
transmission of information or ideas
that might or might not be false and
also no effort is made to determine
their validity ?

(A) Pink Journalism
(B) Gray propaganda
(C) Engineering of consent
(D) Manufacturing consent

Which of the following is not a
characteristic of good sample
design ?

(A) It must result in small

sampling error

(B) It must be such that systematic
bias may be controlled in a

better way

It must result in small standard

()

deviation

(D)

It must result in a truly
representative sample

90.

91.
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sfemetafs ¥ead wud 3w

sfeam™ Eaed @IS 3R ?
(A) T

(B) g0
(C) T

(D) IR

STt Tifedt fore shed T 3/ ST el
T, 9 = Y= WaSH ST
T hell S ATel, TR Hifedra feharn
SheuA faaior = AREER e S

2] |G B2 IR =3 [~ 1 <

(A) T FereRTar (e SHfasm)
(B) &el &R (¥ Hrarer)

el o

(C) wemdr=l fuiteht (Sferteriin
Ak H42)

(D) e Ffiidt (ragwemton #)

EIcTish! IV Scd g e e

e AYU TG ?

(A) R = = 3T T fere

I AT

(B) 3TSf ToH1 AT STIHHETA g&Tdrars

WA TgdH Gqed Sl S
(C) 3R &A1 a9 formrery (Hee

SfRUTM) 3Ty 378

(D) 3ft o A A e eAfien
ElNIRIECC ]
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93.

94.

95.

96.

‘Hegemony’ is a kind of dominant
consensus that works in a concealed
way without direct coercion. Who
introduced the term ?

(A) Derrida

(B) Karl Marx

(C) Antonio Gramsci
(D) Habermas

How many minutes/hr does the
advertising code mandate for TV
channels to carry advertisements ?

(A) 16 minutes
(B) 18 minutes
(C) 10 minutes
(D) 12 minutes

Which language newspapers are
usually the largest circulating news-
papers in India ?

(A) English
(B) Hindi

(C) Bengali
(D) Marathi

How does a reporter ‘balance’ the
story ?

(A)
(B)

By writing several paragraphs

By quoting several different
sources

(®)
(D)

By including pictures

By publishing a story and
following it up
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SeiEETETG /Yy colele | TR ST SeHd!
A ST I JeHSToRaEl T HI P
TG M HId STHd. & HSl HON

et ?

(A) SRer

(B) hTct HRd

(C) oTaitst areeh
(D) TEHE

STfeqd o= aaraR hivrdlE]
fersrelt anfedt g dreren fehdt fHferg
AR SfeAd! Srere wehd A&l ?

(A) 16 fafte
(B) 18 fafwe
(C) 10 fafwe
(D) 12 fafte

qEICTuch] ShIUTCl HTodIel gausial €9

AR Faifaeh e ?
(A) Eusil

(B) fect

(C) et

(D) #St

[ " S
qldliel dldH=l HdHdAI enXdl eldld ?

(A) e uftes] foagd

(B) fafaw warht sieE, =1 gamen
STAHIT S

(C) Brfea Sgd

(D) STdH! TR hed Hae fa=n
L IUICIIRSET
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97. As part of its crisis management, | 97 Hm @mq ST UYET=AT SEETaT—
Maggi Noodles came up with which SO R BIETET TR el ?
hash tag ?

(A) # we miss you too (A) # = i iz
(B) # just two minutes (B) # W% g ﬁqﬁzq
(C) # bring maggi back (C) # form wwit o
(D) # we are home (D) # o W 3H

98. Which of the following is a camera | 98. Je@iyeh! IV I HAATHT BTaTCA
movement pair ? U FIOATEIS! ATl S 2
(A) Pan-Tilt (A) T-feee
(B) Top-Bottom (B) 2fu-<ieH
(C) Track-Tour (C) Th-T
(D) Rock-Roll (D) F-Jet

99. Which public relations professional’s | g9 wivregr Sa99F  =AEGQIFIFHT=A]
telephonic conversa‘?ion Wlth media (TR ) Q%Torrﬁ ﬁﬂmﬂﬂﬂéﬁa
prans 0 sl and |y v e i
(A) Amrit Ahuja (A) STd STgs
(B) Nira Radia (B) 1 wfean
(C) Anchal Jain (C) 3T=ra SH
(D) Dilip Cherian (D) feeita afEm

100. Which of the following means | 100, s v 31¢f SAfiawa TWER e,
mutual understanding, commonness ARAF THEET A0 o ST 2
or oneness among the people ?

(A) Sadharanikaran (A) HETRHT
(B) Rasa (B) ™
(C) Bhasa (C) 9™
(D) Sandesha (D) Hew
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ROUGH WORK
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